1746 m

481 m

2 iy ==

1

- -

2.60m

413 m

- 205 m = a—— | 53—t - 242 m -

441 m

Sipapkamar

S PSS

S

Hal

/‘-, Badkamer

Slappkamaor = =

Hal

Slaapkamar

Slaapkamer /

Slaapkamar

- 273 m = =083 m= - 242 m =

- 6.2 m- -

441 m-

404 m

356 m

— 38 m— = {0m> =

035 m=

.09 m

2.rfm

467 m

=~ | OF [Fj —=



a8 mes =—137m—= = £33 m =

S PH— 5.05 m E

E
= Hal
o e
L =
\ [ 9
! Winon kamn
1 A
i {_,_.-"'
-
. Barging
i
. i
- e
! i
I o
i 1 - '
]
7 E
=
-
W
i
s
[=1]
=
i L .
[aa ]
[ ]
& o
Ealkdimiis
E
&
o
or
- M
') \
- 216m = 073dm = S35 m i
- 3.0 m i 371 m £

- BE4Ym



Kelder






